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B4_E8_80_83_c89_126471.htm 1. With its plan to develop seven

and a half acres of shore land， Cleveland is but one of a large

number of communities on the Great Lakes that is looking to its

waterfront as a way to improve the quality of urban life and attract

new businesses. （A） is looking to its waterfront as a way to

improve the quality of urban life and attract （B） is looking at its

waterfront to improve the quality of urban life and attract （C） are

looking to their waterfronts to improve the quality of urban life and

attract （D） are looking to its waterfront as a way of improving the

quality of urban life and attracting （E） are looking at their

waterfronts as a way they can improve the quality of urban life and

attract 2. Byron possessed powers of observation that would have

made him a great anthropologist and that makes his letters as a group

the rival of the best novels of the time. （A） makes his letters as a

group the rival of （B） makes his letters as a group one to rival （C

） makes his letters a group rivaling （D） make his letters as a

group the rival of （E） make his letters a group which is the rival of

3. Although it claims to delve into political issues， television can be

superficial such as when each of the three major networks broadcast

exactly the same statement from a political candidate. （A）

superficial such as when each of the three major networks （B）

superficial， as can sometimes occur if all of the three major

networks （C） superficial if the three major networks all （D）



superficial whenever each of the three major networks （E）

superficial， as when the three major networks each 4. The filibuster

， a parliamentary device that slows the snails pace that prevails even

in the best of times in congressional sessions and tests the endurance

of everyone associated with it， seems more and more an

anachronism in the age of telecommunications. （A） sessions and

tests the endurance of everyone associated with it， seems （B）

sessions and tests the endurance of everyone who is associated with it

， seeming to be （C） sessions， tests the endurance of everyone

associated with it， seems （D） sessions， that tests the endurance

of everyone associated with it and seems （E） sessions， testing the

endurance of everyone associated with it and seeming 100Test 下载
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